85 5=l 9 2 o 48 0 ya 2 Ak Aalae Y Ayl
SN0 s audaall 2 r ALY o — — 2017 / 11 / 29

<;E> 4

b-[ﬁj“ [ﬁjﬁ (00003 x[4F 107

a = s cuwaal (1

(0,009)' x+/3 "

D12 Gallae Ly L& a3l 58 dapa 8 S) (2

_5 =7 _3
X

e S (I Y KPS V] IO A <§>

***b:73—+3://_5§ o g a5 + J245 + 81
c=(9 - 45)(3 + 5)

c=7-35 5. a=9+4S5 o -1 (1

b=9 45 :digai -
O—sdli e b s a g G o (2
-3 12 4 16 5 5
a b’ — ab 3 a b L
S R AT =a :3ds . e + o =18 : o= (3
P C At )l 4 peliall Guliie Bl ABC S 1< = A o pall)
. AM =3 & [AB| & M 5. AB=8 5 CA=CB=5

. F & (BC) i (AC) Jiisalls M G el pinsdl
. MF s BF
K s 5 gabliy (NC) 5 (MF) Oeinal | AN =2 & [AM ] 0o 35 N oS3 (2

| (1

.FKzg ol iy, MK ol o
M) Al A s)bkle FoALal i (3

P ks i (MF) afid oy (CE)  pufiasdd

Devoir.tn
toutes les matiéres, tous les niveaux



. [CE] =i P o o

Devoir.tn
toutes les matiéres, tous les niveaux






